ASSEMBLY INSTRUCTIONS

WF297026,27

1/24



http://www.pdffactory.com

SAFETY WARNINGS AND GENERAL NOTES:

1. Do not use substitute parts. Contact the manufacturer or dealer for replacement
parts.

2. Keep these instructions for future reference.

3. We recommend assembling your bed on the shipping carton to protect your floor
or carpet.

4. Be certain all staples are out of the box before beginning assembly on the shipping
carton.

5.Replacement Parts:

Replacement Parts, including additional guardrails, may be obtained from any of our
(GIGACLOUD TECHNOLOGY (USA) INC.) dealers

2/24




.8 V//
SO

\
@\\.@ ’/
o \ V



http://www.pdffactory.com



http://www.pdffactory.com

Part Lists : WF297026

=

=

Leg front (left) - 1pc

2]

Leg back (left) - 1pc

/

Leg front (right) - 1pc

>

Leg back(right) - 1pc

>

./

Grooved crossbar - 10pcs

Upper crossbar (rea L) - 2pcs

)

7N

Lower crossbar (rear) - 1pc

(=

Vertical guard rail - 1pc

o @

C

Back side rail - 1 pc

S|

™~

B

N

w

W

Front side rail - 1 pc Crossbar - 4pcs Front right vertical - 1pc
Front left vertical - 1pc Slats - 12pcs FB-horizontal- 4pcs

N

T~

FB-horizontal- 4pcs

g

-

Left lower crossbar - 1pc

38

~

Right lower crossbar - 1pc

i

&

Upper crossbar - 2pcs

s

4

Upper panel - 2 pcs

B

L

Middle panel - 2 pcs

&)

&

Left Lower crossbar - 2pcs

N

&~

Middle crossbar - 1pc (left)

&

=

Middle crossbar - 1pc (right)

4

N

Shelf bar - 1pc

N

/

Shelf bar - 1pc

(4

S

Shelf bar - 1pc

T

———

Crossbar - 1pc

(ol

\

Crossbar - 1pc

5/24



http://www.pdffactory.com

Part Lists : WF297027

31

7

Drawer right side panel - 3pcs

32
3

33
~

34

7

Support tree - 3pcs

Drawer back panel - 3pcs
35

=

Left front foot - 1pc

Bottom drawer - 3pcs
36

Right front foot - 1pc

—

ﬂ:

Top panel - 1 pc

@/:

Top panel - 1 pc

Y

Bottom panel - 2pcs

o]

)

Bback panel- 4pcs

i

~

Lower panel - 2 pcs

)

%

Shelf plate - 1pc

il

47 Q

Shelf plate - 1pc

3

N

Shelf plate - 1pc

&

\

Crossbar - 1pc

©|

Shelf plate - 1pc

2|

Shelf plate - 1pc

N

[ ]

Door left panel- 1 pc

57
—

Left black foot - 1pc

53
=

Right black foot - 1pc

N

NN

Side left panel - 1 pc

22|

Side left panel - 1 pc

&3]

[

Side right panel - 1 pc

30|

NN

Drawer left side panel - 3pcs

25

l

Door right panel- 1 pc

26

<

Adjustable panel - 1 pc

28]

N

Side right panel - 1 pc

29

Drawer front - 3pcs

6/24



http://www.pdffactory.com

HARDWARE LISTS :WF297026

B]

EERMMHIMMIN)) 4

0

Hex-Head bolt: @6"85mm - (20pcs)

©

Hex-Head bolt: @1/4"*80mm - (18pcs)

- @

Hole bolt: @9.5"*13 - (22pcs)

Hex-Head bolt: @6"*50mm - (12pcs)

—

Allen key - (1pc)

W

Wood dower: @10*40 - (26pcs)

Shelf holder -4pcs

Screw: @4*30mm (51pcs)

(@

Wood Handle @30 mm -5pcs

S

v

Screw: @3*12mm - (92pcs)

Wheels: - (4pcs)

@5/32" x 25mm
Philip-Head bolt ( 5pcs )

8

@1/4"
Nut (05pcs)

1]

W

Wood dower: @8*30 - (20pcs)

P

Door Magnet (2pcs)

Hinge (4pcs)

M

\'\’ ~
<
oy

&

Screw: @3.5*15mm - (20pcs)

7124



http://www.pdffactory.com

Step1:

10PCS | 14PCS | 14PCS

N

Gl

NN AN

Qe——¢= Lt R
e

Step 2 :

7/ 1) 11

/

Q
NN

[]

/.

Q.r

v

/
/"
/

y
©

7a

8/24



http://www.pdffactory.com

3PCS

4PCS | 8PCS | 4PCS | 8PCS 4PCS | 4PCS

Step 3

A/

Step 4

9/24



http://www.pdffactory.com

Step 5:

10/24



http://www.pdffactory.com

Step 7 :

Step 8 :

11/24



http://www.pdffactory.com

]

Step 9:

<0000

20PCS

i

=
\@
7

Step 10 : o Y
&

4-PCS



http://www.pdffactory.com

Step 11:

Step 12::

1R



http://www.pdffactory.com

A

5

2PCS

8PCS

Step 14 :

14/24



http://www.pdffactory.com

15/24



http://www.pdffactory.com

]

Step 17 :

<0000

10PCS

Step 18 :

W

=
\@
Vs

16/24



http://www.pdffactory.com

Step 19:

17/24



http://www.pdffactory.com

R] [N]

Step 21 :

Step 22:

§

18/24



http://www.pdffactory.com

Step 23:

Step 24 :

AN

C
[ @

1-PC

7-PCS

19/24



http://www.pdffactory.com

Step 25



http://www.pdffactory.com

6-PCS | 4PCS

Step 27 :

4-PCS | 4PCS

Step 28:

21/24



http://www.pdffactory.com

Step 29 .

Gl

N,

4PCS

0

8

1-PC



http://www.pdffactory.com

Step 29:

Step 30 :

23/24



http://www.pdffactory.com

COMPLETED

%\ of

\\ .

NN

24/24



http://www.pdffactory.com

	AI Model (1)
	AI Model (1)
	AI Model (1)
	AI Model (1)
	AI Model (1)
	AI Model (1)
	AI Model (1)
	AI Model (1)
	AI Model (1)
	AI Model (1)
	AI Model (1)
	AI Model (1)
	AI Model (1)
	AI Model (1)
	AI Model (1)
	AI Model (1)
	AI Model (1)
	AI Model (1)
	AI Model (1)
	AI Model (1)
	AI Model (1)
	AI Model (1)
	AI Model (1)
	AI Model (1)



